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QUESTION 1

A company writes a Service level Agreement (SLA) for their backup customers. This is a description of the default
service level: 

-All files backed up from the client node are governed by the "standard" management class. 

- The current version, and up to two (2) previous versions, of a file will be kept in data storage when the file exists on the
client node. 

-If the file no longer exists on the client node, it and its two (2) previous versions remain in data storage. 

-Deleted and previous versions will be retained for at least 30 days. 

Which command conforms to the company\\'s SLA? 

A. define copygroup standard standard standard verexist=30 verdel=3 retex=3 reto=30 

B. define copygroup standard standard standard verexist=30 verdel=30 retex=3 reto=3 

C. define copygroup standard standard standard verexist=2 verdel=3 retex=30 reto=30 

D. define copygroup standard standard standard verexist=3 verdel=3 retex=30 reto=30 

Correct Answer: D 

 

QUESTION 2

Which IBM Tivoli Storage Manager V6.3 (TSM) function can reduce the amount of data transferred for a VMware
backup? 

A. Client-side deduplication 

B. Server-side deduplication 

C. TSM API with VMware compression 

D. TSM API with VMware deduplication 

Correct Answer: A 

 

QUESTION 3

An IBM Tivoli Storage Manager (TSM) administrator has set up and enabled Disaster Recovery Manager. The
administrator wants to return tapes that are empty from the vault to the library as scratch. The administrator issues the
command: 

move drmedia * wherestate=vaultretrieve 

None of the tapes that were in value retrieve state have been returned to scratch even though they have been placed
back in the library. What caused this to happen? 
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A. The tapes are in COURERRETREVE state and must be moved to MOUNTABLE state. 

B. The tapes are in VAULTRETRIEVE state and must be moved to COURERRETREVE state. 

C. The tapes are in COURERRETREVE state and must be moved to NOTMOUNTABLE state. 

D. The tapes are in COURERRETREVE state and must be moved to ONSITERETREVE state. 

Correct Answer: D 

 

QUESTION 4

The IBM Tivoli Storage Manager V6.3 (TSM) Server is running but the expiration is running very slow. The process of
the expiration has slowed down in three week intervals. What should be investigated? 

A. The IBM DB2 reorganization is running every 21 days. 

B. The IBM DB2 data optimizer is doing this work automatically. 

C. Set the value db2set -i db2_parallel_io=*: 24 to gain maximum performance from the disk. 

D. The TSM IBM DB2 database directory must be divided into more than one directory path to gain maximum
performance. 

Correct Answer: A 

 

QUESTION 5

What should the installation planner consider when upgrading an IBM Tivoli Storage Manager (TSM) client to V6.3? 

A. install both the server and client at the same time 

B. upgrade the client to V6.3 before upgrading the server to V6.3 

C. verify the new client level is supported by the current server level 

D. upgrade the TSM Server first to V6.3 before upgrading the TSM client 

Correct Answer: C 
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